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Lesson 15-1 Homework

Find the mean and median of the data set5, 8,5, 9, 1, and 2
Find the mean and median of the dataset9, 8, 7,4, and 5

What is the interquartile range of this box plot?
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The data set 55, 65, 40, 40, 30, 50, 64, 45, 40, and 41 shows the admission price (in dollars) for
one-day tickets to 10 theme parks in the United States. What is the interquartile range of the
data values?

A random sample is taken from two different groups of people. The age of each subject in the
sample is recorded.

a) Find the mean age for the sample from each group.

b) If a person is chosen at random from each group, which group’s person is likely to be
younger?

Ages of People
Sample from | Sample from
Group A Group B
18 41
19 24
38 37
31 42
38 41

Find the mean and median of the data set 1,199; 958; 1,240; 1,094; 1,153; and 957

Find the interquartile range of the data set 32.6, 98.5, 16.6, 22.4, 99.8, 72.6, 68.2, 51.8, and 49.3

Find the range and the interquartile range of the data set 35.6, 7.4, 6.2, 27.7,-28.4, -32.2,
-27.9,17.1, and -35.2
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Lesson 15-3 Homework

1. The box plots display how fast two different animals can run. Compare the median of each box
plot. Which of the following is the best description of the medians?
O A. The median for Animal 2 is greater.
O B. The medians are about the same.
O C. The median for Animal 1 is greater.

Animal 1 Animal 2
L e 2 4 - L ey
€T T T e L T
36 37 38 39 40 41 42 36 37 38 39 40 41 42
Speed (MPH) Speed (MPH)

2. Water boils at different temperatures based on its elevation above sea level. Rob and Ann are in
different cities. They both boil water in a number of pots. Each person records the water
temperature just as the water starts to boil. The higher the elevation is the lower the boiling
point is and the lower the elevation is the higher the boiling point is. They use box plots to
display their data. Compare the medians of the box plots.

a) Which of the following is the best description of the medians?

O A. The median from Rob’s data is greater.
O B. The median from Ann’s data is greater.
O C. The medians are about the same.
b) Which of the following is the best inference based on the median values?
O A. Ann is at a greater elevation.
O B. Rob and Ann are at about the same elevation.
O C. Rob is at a greater elevation.

Rob's Temperature Data Ann's Temperature Data
P— ) SE— & y sy
-7 > < T >
205 206 207 208 205 206 207 208

Degrees Fahrenheit Degrees Fahrenbeit



An experiment compares the life spans of two brands of light bulbs. Twelve bulbs of each type
were tested until failure. The results are shown for the two types of light bulbs in hours.
a) Find the mean time of each light bulb.
b) Which of the following is the correct description of the populations?
O A. HotLight generally has the greater lifespan.
O B. BrightBulb generally has the greater lifespan.
O C. The two bulbs generally have the same lifespan.

Bulb A: Hotlight Bulb B: BrightBulb
Time, in hours Time, in hours
967 1,255 1,474 1,147 1,418 997
1,451 1,520 1,033 931 1,452 1,096
963 1,363 1,437 941 1,003 1,477
1,393 1,050 1,512 1,147 1,094 1,545

4. The dot plots show the amount of time it takes each person, in a random sample, to complete
two similar problems.
a) What is the mean time for each problem?
b) Which of the following is a correct inference based on the mean values?
O A. Problem 2 is more challenging than Problem 1.
O B. Problem 1 is more challenging than Problem 2.
O C. The problems are equally challenging.

Problem 1 Problem 2
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Time (Minutes)

24 25 26 27 28 29 30 31 32 33 34 35 36
Time (Minutes)

5. There are two types of plants in a greenhouse. The dot plots show the heights of 20 plants, 10 of
Type 1 and 10 of Type 2. The plants are given the same amount of food and water.
a) What is the mean height for each type of plant?
b) Which of the following is a correct inference based on the mean values?
O A. The two types were planted at the same time.
O B. Type 1 was planted first.
O C. Type 2 was planted first.
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There are two movie theaters in a town. A student wants to compare the amount of money
each theater makes over a period of days. The box plots show the data for the amount of money
each theater makes over a period of days. Compare the median of each box plot. Which of the
following is the best description of the medians?

O A. The median for Movie Theater 2 is greater.
O B. The median for Movie Theater 1 is greater.
O C. The medians are the same.

Movie Theater 1 Movie Theater 2
Gty o pry p—— 4 s
B T s S S e >
489 490 491 492 489 490 491 492
Money (Dollars) Money (Dollars)

7. A student is studying two different breeds of dogs. The following are the weights of 6 of each

breed of dog.

a) Find the mean weight of each population.

b) Which of the following is a correct inference based on the mean values?
O A. Dog Breed 2 generally weighs more than Dog Breed 1.
O B. Dog Breed 1 generally weighs more than Dog Breed 2.
O C. Dog Breed 1 and Dog Breed 2 generally weigh about the same.

Dog Breed 1 Dog Breed 2
Weight (lb) Weight (Ib)
61 59 48 44 38 43
54 50 46 46 45 36

The box plots show different heights of two trees. Which of the following is the best description
of the medians?

O A. The median for Tree 2 is greater.
O B. The medians are about the same.
O C. The median for Tree 1 is greater.

Tree 1 Tree 2
T B G o9 & @
€T rTTTTTT T T T T T T T TTT T €T T T T T T T T T
54 55 56 57 58 59 60 54 55 56 57 58 59 60

Height (feet) Height (feet)



9. A group of scientists are studying forests. The data below shows the number of rings from
twelve trees, six from Forest 1 and six from Forest 2.
a) Find the mean number of rings for each forest.
b) Which of the following is a correct inference based on the mean values?
O A. The trees in each forest generally are the same size.
O B. The trees in Forest 2 generally are greater in size.
O C. The trees in Forest 1 generally are greater in size.
c) Which of the following is another conclusion that a person might make?

O A. The trees in each forest are about the same age.
O B. The trees in Forest 2 are older.
O C. The trees in Forest 1 are older

Forest 1 Forest 2
Rings Rings
24 26 37 21 14 19
35 22 30 20 12 22
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Lesson 15-4 Homework

1. A researcher is studying the effects of listening to rock music on the number of hours people
sleep. What is the range of hours slept for each group?

Rock Music Non-Rock Music
A

Tl

4567 8810 45678910
Hours of Sleep Hours of Sleep
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Number of People
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Number of People
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2. Agroup of 10 people were asked to rate books, shown in the histograms.
a) Find the range of the ratings for each sample.
b) Make a comparative inference about the ratings of the books.

O A. The ratings vary to the same degree for both Book 1 and Book 2.
O B. The ratings vary less for Book 1 than for Book 2.
O C. The ratings vary less for Book 2 than for Book 1.

Book 1 Book 2

Frequency

¢ 2 4 6 8 10 12

Rating

3. The box plots show the lengths of flight delays at two major airports. What is the interquartile
range of the delays for each airport?

Airport | Airport 2
ety e Gy 3 ———1
<7 T T T T > <7 T T T T T>
1] 2 4 6 8 10 0 2 4 6 8 10

Hours Hours



4. The box plots show the frequency of test scores on a recent math test in two classes.
a) What is the interquartile range (IQR) of the test scores for each class?
b) Make a comparative inference about the populations based on the IQR.
O A. The test scores for Class 2 are more consistent than those for Class 1.
O B. The test scores for Class 1 and Class 2 are equally consistent.
O C. The test scores for Class 1 are more consistent than those for Class 2.

Class 1 Class 2
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0 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
Test Score Test Score

5. The box plots show the rainfall amounts over the past month in two major cities.
a) What is the interquartile range (IQR) of the amounts of rainfall for each city?
b) Make a comparative inference about the cities based on the IQR.
O A. The rainfall amounts for City 1 are more consistent than those for City 2.
O B. The rainfall amounts for City 2 are more consistent than those for City 1.
O C. The rainfall amounts for City 1 and City 2 are equally consistent.

City 1 City 2
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6. A teacher conducted a study on the mood level of students with a lot of homework and those
without any homework. Find the range of mood levels for each group.

. Group with Homework . Group without Homework

= A =

5 20- 5 20

2 16+ 2 16

£ 12 < 12

S 8- > 8

2 44 2 4

E 0+ £ 0

Z 0 2 4 6 8 10 12 z 0 2 4 6 8 10 12

Mood Level Mood Level



7. The histograms show the number of hours students in two groups spend exercising in one week.
a) Find the range of the number of hours for each group.
b) Make a comparative inference about the number of hours students spend exercising in each

group.

O A. The number of hours students spend exercising varies to the same degree for both

groups.

O B. The number of hours students spend exercising varies less for the students in Group 2

than for those in Group 1.

O C. The number of hours students spend exercising varies less for the students in Group 1

than for those in Group 2.

Group 1

Number of Students

3 6 9 12
Number of Hours

" Group 2

= A

£ 204

2 16+

£ 124

o 84

2 4

E 0+

Zz 0 3 6 9 12

Number of Hours

8. The following box plots show the number of bushels of corn per acre harvested on two farms.
What is the interquartile range of corn harvested for each farm?

Farm A

Gre—— b Gprms—

Farm B

e enstr——— 3 -

( 1] L] i L] 1 1] 1] 1] ¥ ¥ L IR
10 20 30 40 50 60 70 80 9SG 100 110
Bushels per Acre

<7 T T ™7 T T T T >
10 20 30 40 50 60 70 80 90 100110
Bushels per Acre



